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The Master Method

If T(n) < aT (3) + 0(n%)

then

T(n) = -

] O(nd logn) ifa = b®
0(n%) ifa < b®

| 0(n'o8r @) ifa > b

(Case 1)
(Case 2)
(Case 3)
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What is the pattern? Fill in the blanks in the following statement:

at each level j=0,1,2,..., log, n, there are <blank> subproblems,
each of size <blank>.

O al and n/aj, respectively.
O al and n/bj, respectively.
O bi and n/aj, respectively.

O bi and n/bi, respectively.
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Work at a Single Level
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Total Work

Sw\m«\% ONR( o\ b»\&\S .}':' o\l SRR \\"3 BV\

\ o S 5
N (:._ \
ol B

Tim Roughgarden



